Year 5

Autumn 1

Location: Europe

Fluency Focus: Know all decimals that total 1 or 10 (1 dp).

Count on and

back in multiples of 10, 100, 1000 and

10,000.
Location Focus Types of questions to ask
[ know the What pairs of numbers equal 10?
Norway decimals that | If | had 0.2 what would I need to add to it to
total 1 (1dp) make 1?
What pairs of numbers equal 100?
[ know the | If I had 17 what would | have to add to it to
Ireland decimals that | get 100?
total 10 (1dp) If | had 1.7 what would | have to add to it to
get 10?
Complete the next five terms in the pattern:
I can count on 10, 2,0' 30 ... )
. : Complete the next five terms in the pattern:
Croatia and back in 190. 180. 170
multiples of 10 | complete the next five terms in the pattern:
100,820 ; 100,810; 100,800 ....
[ can counton | Complete the next five terms in the pattern:
Moldova and back in 1,700 ;1,800 ; 1,900 ...
multiples of Complete the next five terms in the pattern:
100 20,200 ; 20,100 ; 20,000 ...
[ can counton | Complete the next five terms in the pattern:
Bosnia & and back in 38,000 ; 39,000 ; 40,000
Herzegovina| multiples of Complete the next five terms in the pattern:
1000 152,000 ; 151,000 ; 150,000
I can count on Complete the next five terms in the
Albania and back in pattern:880,000 ; 890,000 ; 900,000...
multiples of Complete the next five terms in the pattern:
10,000 1,040,000 ; 1,030,000 ; 1,020,000 ....
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